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����� )�� ����&� ���� ��%�$�� $ ��
�� ��  ��,
��(�� � %�,
��(�� ������� ������ *��%���'
+��� -
�*�� �����&
�� ������'*�������&� ��� ��  �,��
�$ �  �����,�
�$  �������� ���%��$/�
���� ���� ����&�0 %�$ 
���  �������� ��(�
�$ � ��,� �� ������  ��� ��(�
��� 1�� ��� ���
�*�
��� &� ��&
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���,��
�$ ������ ��$ ��

�� ��
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� �������
+����
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*�������&� ��� �� ����
�$�0 � ������/��� ����&� ���  �����,�
�$ � �&���%�/���  %�� �%�
 ��������0 ����� 
���%��� ��$���� ������'*�������&� ���� ��������� 2 ��&� �%� ������� ���'
�$
�� *�������&� ��� ����� �� ����
�$ ������� ��$ ���$,�

�� ����0 ���%��3

�� % ������ 4�℄�
���*�� ������ 6 7�� ������� ��'1������0 ������$ ��,�� ���� �� ����
�0 ������ ��  �����,�'

�� ��������� � ��
����
� �� ��� ���
 �%� 4	0 �℄#� 2 ������ 48℄ ��$  ����&� ��' �������&
��
������ �"� %%���� $ ��
$��� �
������$�
��  ��������0  ������/ �������  ���$� $ ��  �%�$
��
�+�$ � ����� ���� ��%��
�� ������� % ������
����0 ������� ��,
� ��
�����0 ��� �
���*�
9������$/��� $: ������

��� ;� ����/��� %���� ������ � ��(�
��  ���%�� �%�/��� ���%
�'

�� )�
(���
� ��
����������� 7�� ��������

<�� � �� �*��
�&�� $ ��  �����
���  �� ��� �� ����
�$ ������0 ��%� �
�*� ��� �����
<�����������'=�
+� !<=# ��� ����� 9����/��*� $����: !;>#� 2���%�� 7��� ����� �� �,���
<���������� % �
�*� 4�℄0   ���$ � 
� 
���������%�

�� ���������� =�
+�� ;������ ��� 
�%���
����� ;> 
� � 
�%� 
��
��*�������� ���������%�
�� ���� �������
$�� % ������� 4?0 @℄� � �'
%��(�
 �%�%�
�� 7��*� ������ � �$� �*� �����,�
�� ���� ��  �����
� % 4A℄� 2 ������� 4��0 �	℄
���%��$� $ 
�������� ������
�$ 7��*� ������� 2 
� ��$��� %���$ 7��� ����� ��,
� ��  �����'
%��� ��� 7%�� ��&� ���  �� �� �� ����
�$ ����&� �� ���������� �
��+�%0  ������/ �������
 ������ � ���� ��(�
�$ ���%
�
�� �"� ��$ 
�������� ����%�� ��
��*���+��� 2 ��

�� ������
������,�
� ��������+�$ ������ <= � �*� ������
�$� 2 ��  �����%����� 
�,�  ��&�$� �����
<=  ���� ��3� ��&
�� ��(�
�� ���%
�
�� )�
(���
��

- ���
�$ ���$ ������  %$��
�  ���
+���� 7�%�%���
�
� �� �  � ���� %  ����/���� ;� ��
�� �� ��
�&
� �� 
� 
����%�,
�� � ��&
��  ����&� ��' �������&
�*� *��%���+��

�*� ���$
��  � M �������
� ������ ������ $��� K∞� ;� ������ K∞ ������  %����
�0 �� �
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�
&�% �%��� *��%���+��

�*� ���$ � ��7���� % � %���$ 
� ��   ����  ���%����%�/ 
� �� ��
�&
� ��
� �%��7%�����%� �������� ;� �� �����$���� % 
3� ������
��� ����� x∞ !�������
�$# y∞0 z∞
!������&
��# � t∞� ;� �� $��� K∞ �� ��*��� 
�������� ��&�� r  �  ���� ��/ v� B����  &�����0
&�� v � r �����$/� $ % 
����%�,
��  � ���� K0  %$��

��  ��  �����%����� � ��&
���� ���$�
2 ��&� �%� ������
�� % 7���  � ���� ����� � ������%���  ����&� ��� ������
�� r, θ, α, t� "�*��
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K∞ � K ����� �	
��
� ���������	�
��� ����
��� 	 ������� K∞ ����� ������ ���� �������
��	�������
� �� �������� v� � K �����
����
�! "�� #��� ����� 	����

���
 ����
�$�
�


dx∞ =
dr

√

1− v2/c2
, dt∞ = dt

√

1− v2/c2 , dy∞ = rdθ , dz∞ = r sin θdα . %&!'(

"�#���� ���	���	�����	 #����
� ���
�

ds2 = c2dt2∞ − dx2
∞ − dy2∞ − dz2∞ %&!)(

����*���� 	 ����� ��� �
���	�� +,+-

ds2 = c2(1 − v2/c2)dt2 − dr2

1− v2/c2
− r2(dθ2 − sin θ2dα2) . %&!.(
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��� K∞ ������ �� �����

�
 ����
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 ���
�� #
������ ��	
��
����� ��
���/����� � ����
�����
�� #
������ �����

mc2

(

1
√

1− v2/c2
− 1

)

− GmM

r
= 0 . %&!�(

+�� ��� ��
 ��������� /����� �	�����*�
 �� ��������/����* �������
�� ���������
� ���0
����1

� 
�*���� v2 = GM/r! "�����	�

 ����/�

�� 	�����
�� 	 %&!)(� ����/��� �������
2	���$�����!
3������� /�� 
� ����� ���� 	 ���	��1
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��� ����������! 4 �	
��
� #���� ����� 3� ����� ���� ����������	�
! 6��� ������ 3� 	 #��� 
�	�� ������	�� �������
	 ����� ���! ���������� 	 ��*��
�� 
� ��
�	���� �������
��	� 
��
�������
� ��������/�0
��� 6+� ������
 �������	�
� ������
��
�� ������� ����
�* /������ �	����
� ���� ��* 
�
����/
�� ���	������
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����! "��� ��������� /����� #���
6+ ��������	�
���
 � ����� ����/����* ��������� ����
�* /������ ������� ��* �	����
� ����0
 �� ��������/���� 6+ 	 ����	����	� ��� ������
��
�� �������
��	�0	����
� +,+! ,����
�������� ���	������

�� ���
 	 ����* ���/�
* ��� � ���
���	�� ���������/����� ��	���
��!
8� /�	�� ��	�����
�� ������� 	 ���� /�� ������� �������� �������
��	�0	����
� +,+ �����
���� ����/�
� ���1� �������
�� ���������� ������
 %��� ����
��(� ������� :�
��	�����! ;�

���������� ����
�� #�� �	�����
 � ����
��	��� ������ � 	����

��� � �����
��
� � ����	��0
��	� ���� �������
��	�

��� ���$����	! "��/1�� 	 ��/���	� ��������� ����
�� v 	��������
����/����
 �������� /�����! +���
�	�
�� 
�	��� ��*��� ���� ��
� 
���!
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� 	�� ���	������
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�	�
 ��

��� �	����
� ���� ��� ��������/�����
6+ 	 
� ��
�	���� � #�
$���
�	���� �����
* �
����
�
! "���� 	 
� ��
�	���� ������ ������0
��/����
 6+ �������	�
� �
�����	�� �	����
� ���� ��* �� �������� �Vn = d�r/dt /����� �����
m 	 ���	������

�� ���� Φn = Φn(�r)! 3���
 ��*��
�
�
 ���
�� #
����� ����
�� /������

En =
1

2
m�V 2

n +mΦn = const , %'!'(

����	�
 ��������/
���� �Vn∞ = 0 � ���������/������ ��	���
�
 Φn∞ = 0 �� � En = 0! "�#����
���� ��������� ��������/����� 6+ ���/�

���
 ����	� 

�V 2
n = −2Φn. %'!)(

"���/�� ������ �
���� #���� ����	�
 ��
 �	����
� ���� ��� ��������/����� 6+ 	 �����0
�
��
�� �������
��	� +,+ � �
���	���� ds2 = gµνdx

µdxν ! 6�����
� ������ *��
������/����*
�
	����
��	 %<=( >?℄� ��
 ������
�� #
�����

El = mc2u0(g00)
−1/2 %'!.(
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������	 
���
����� ������������ �����
������� �� � ���������������������������� ������
��� vi = dxi/dτ !µ, ν, .. = 0, 1, 2, 3; i, k, .. = 1, 2, 3" ����� ����� ������#����

El =
mc2

√

1− v2/c2
. !$%�"

������� �������&� ����
�& () ����
�

ds2 = c2dτ2 − dl2 , dτ =
1

c

√
g00 θ

0 , dl2 = hikdx
idxk ,

θ0 = dx0 +Aidx
i , Ai = g0i/g00 , hik = −gik +

g0ig0k
g00

, !$%*"

v2 = (�v)2 = hikv
ivk , u0 = g0µu

µ , uµ =
dxµ

ds
.

+
��� dτ , ��������� ��-�������� ����� � �����
������� ��	 θ0 , $������ ����
������.� �����
�����	 hik , ��/�����&� ��������������������������&� ����������� ���0�� �� �������&� ���
������	 ����.������&� ������ �������%

)0 1��� ����
� �&������

g00 = u2
0 (1− v2/c2) . !$%�"

2 ������������ ������������	 
�� ���-�
�� ��
� ��� ������	 ���������� u0 ����������� � ����
0&������ ���������������� ������ 1���.�� ������&3 Etot = mc2u0 4$5℄% 7�������������� 
������
� 
������ ����-���������

g00|∞ = 1 , v2∞ = 0 !$%8"


� �3 u0 = 1 � Etot = mc2% ��� 
� �&������ ������#����

g00 = 1− v2

c2
. !$%9"

:�
�����/�	 ��� 1�� ����
�� 
�� ���� () ��������� ����-��������� ��	 �������� �-�������
���������� �����.�� �� ��������.� ���� ��������� !$%;" ����-��������� �� � �������� ������%
��� 
� ����� �&������ ����
�� 
�� 
�������� ������	 �����&� �����0
 � ������������
 ���
��-�������
 ��3

v

c2
dv

dτ
= −vi

2

∂g00
∂xi

, !$%<"

.
� v = (hikv
ivk)1/2% 2�
 ����
� !$%9" � !$%<" ��
���0&���� ���	 ��� ����� ������ 0����


g00 = 1 + 2Φ/c2 , !$%$5"

=�.
� �������������� ����
�& !$%9"	 !$%<" ������� � �� ����� ��


v2 = −2Φ ,
dv

dτ
= −vi

v

∂Φ

∂xi
, !$%$$"

.
� �
����� Φ ��������� ��&�� .������������.� ����������% ��� 
� ���

��	 ��� ��� ������
�
�� �� ��������� ������& � ��������������	 ���� ��������� �Vn �� ��������� �� �
��� 0�������
�� ���� ��������� �v �������������� ����-��������� ��% :�� 1���	 ����
�� !$%$5" ���������
��&�� �������� ����
��� ����
� +>%

)0 �����
/��&� �&#� ������#���� �&������ ����� ����
��

dτ =
1

c

√
g00 θ

0 =
1

c

√

1− v2

c2
θ0 . !$%$;"

=���� �-��0��	 ���� �0������ ���� ��������������������������&� ��������� ������ ����-������
���� ��	 �� ���������� g00 ������� gµν 
�� ����������&� ����������� ����
���� �
�/� �������

��.� ����������.� ����������� ��������.� -�0����.� ���������3 θ0 →
√

1− v2/c2 θ0% �����
��	
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�����!�	�� ������	��� ���"� #��
������� ���	�!	
��� �����$	���%
����
	���
���	�� ����������
	����� 
�
	
����& '�� �(����	�� ��� 
 ���	� �����	� �� ��		� �	��
� �	���
��� 
������ �����
�	� ��	����
�	��	

ds2 = (1− v2/c2)(θ0)2 − (1− v2/c2)−1(θ1)2 − (θ2)2 − (θ3)2, �)&)*�

��	 θi = θikdx
k (i, k = 1, 2, 3) + �	
�����	 ����������
	���	 
�
	
����&

,��	� ��
������ ��� �	���
� ���� �)&)*� �����	�� �( �	���
�

ds20 = (θ0)2 − (θ1)2 − (θ2)2 − (θ3)2 �)&)��

���"� #���	�!	
�� �	�����!��% -).℄

θ0 → θ0
√

1− v2/c2, θ1 → θ1/
√

1− v2/c2 �)&)0�

� ���	�!	
�� ��
�����
√

1− v2/c2 
 #�����
�	���% 
�
	
���� θ1&
1 ���	� �����	 θi = θiµdx

µ � ��(�� )2���� θµ ��$	� �����
��� 
���������� 34 -5�)*℄� �����
��� �
������� v ������	��� �	(������ �	����
����
��� ���$	��� �
������ ���	��� � �	�	������
�
������ �
�$	��� 34&
4��	���� ��� ��� ����������	�
� �	 ����
�� ���!�������� ����������
� ������(�	��� ���2

6��	���� ���
��

� �	���� 78& 1 �	�� 
�	��� ��	��
���� ����������	�
��� ��
	�	��� �� �	�
�2
�	������ � ����
�� �������������� �)&��� ��	�������	���� ��� ���	��
�	� �	
������ ���
� p ∈ M
����
� ������

��� 
 
������ 
���������� ����
��9

g00|p = 1 , v2|p = 0 . �)&):�

1 ���� �����	 E = Ep = mc2 � ����
�� �)&):�� ����	$�	��� ���
���� 
 ������6	���� �)&5�� �)&).�&
�� 3 �	����� 78 �
�(�� ������ 
�� �	�����!�� -).℄ �	���
� ;��
�
�
���

ds2 = c2dτ2 − δikdx
idxk , �)&)��

��� 
������ ��
	�6�	��� #��
�����	 ��	����(�
���	 �����	�%9

dxi → dxi − vidτ . �)&)5�

1 �	(������	 ���� �	�����!��� 
������ ���	� ��(�
��� #�����		
�� �	�����!�	�%� ������	�
�	���
�

ds2 = c2dτ2 − δik(dx
i − vidτ)(dxk − vkdτ). �)&)=�

3
�(� #���	�!	
�� �	�����!��% �)&)0� � #�����		
��% �)&)5� ������
��
�	��� ���"� ����������2
(�!�	� �����	���� �	���
� -).℄&
>�� �	���(�!�� �	���� 78 ��� #�����		
�� �	�����!���% �������� ���	 �
�����	� �����!

�������
�
�� ���������	�
�� 34� 
�����	 ��
	��	� ������� ���
���!������� ���	�!���� Φn�
���
�	�
�����	�� ���
�	��� 8������

∆Φn ≡ Φn,ii = 0 . �)&.?�

�	6	��	 �	�	����
����
��� ���
�	��	 ����������2A
��� ��A� ��� �����!� ����� m 
 ���
���2
!������ ���	 Φn

∂Sn

∂t
+

1

2m
(∇Sn)

2 +mΦn = 0 �)&.)�

��	� 
 
��	 Sn = −Ent + mσ(xi)& 1 �����	 ���������	�
�� ���	
����� En = 0 � Sn = mσ(xi)�
�������

(∇σ)2 = −2Φn. �)&..�
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V(n)i = Sn,i/m = σ,i → vi , ����� 
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������ �����	� $��	
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%
 ����& �
'���� ��
�������� � ��������
� ���� ����! �����
���� � ��(
�� )��℄� ��� �
���+�� �����,

���� ��
�	�- ��
���� t = 
/012 � ��#-����
� �����	
� hik = δik� '
�%��3���� ���
�4- ����� �
�
��� 	��������4- ��	�
�
� ��,�	
�
���� uµ = {1, σµ} (uµ = {1, 0, 0, 0}) �������� �
������
� �
%�
��"�
��	
�� 5�������� %��������
��
%
 �
�� Rµν = 0 ��� �����	� ����! �
+�
 �����������
� ����

Si
kS

k
i − S2 = 0, (Si

k − Sδik),i = 0, ����� 

(Si
kv

l),l −Sl
kv

i,l +Si
lv

l,k = 0 , ����6 

%�� Sik = −(vi,k + vk,i)/2 7 ���"
� �	
�
���� ���
������8 S = Si
i � 9 ���
�� ����� �
�� �	
�
����

�
���������
8 �
3�
�� Sik = −σ, ik � S = −∆σ� :
%�� ��
�
� ��������� � ����� �4�
�������
�
+��������
8 � 
������4� ����; σ,ik σ,ik −(∆σ)2 = 0 , (σ,ik σ,l ),l = 08 
�
 3	���������
 �������

(σ,ik σ,l ),l = 0 , ����< 

∆(∇σ)2 = (σ,k σ,k ),ii = 2(σ,ik σ,k ),i= 0 . ����& 

���� ��������� ����< , ����& �� �
������� �	
�
���� σ = σ(xi) 7 3�
 ��������� ��	����4- ����,
����� =��>����� ��� �����	� ����! � ?�� ��-
��
�8 ����
�
��	
� 	
�%��3����8 �� �
�������
�	
�
���� σ ��	���4������ 
��
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���� ����& 8 	
�
�
� �4��	��� �" ��������� ����@ � ����� �
������ �������8 
�
 ��� ��>���� ��	����4- ��������� =��>����� ���� ����! ����� ����
�
�,
�	�� ����
%�� ?�����������
8 ��
�� ��� ��>���� ����! 8 ����� 
(
"��
���� (∇σ)2 = −2Φ8 �" ����& 
�
��
��� ∆Φ = 0� ?����8 ������������� ����#��
� �

��
>���� �
 xi � �
��4��� �

��
>����
vi = σ,i8 ����
%�
�
� ����� 8 ���-
��� 	 ����
%� ����
�
��	�- ��������� ���+���� dvi/dt = −Φ, i�
����	
 �� 	�+�
� ����
�
��	
� ��>���� ����� �����������	�� ����
% ����! 8 ����� �� ��4���
���
�� AB 8 �
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��	�8 	�
�� ����& 8 �
������� �	
�
���� σ �
�+�� ��
�����
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,
�
��������4� ���������� ����< � :�	�� 
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����! 8 ����� D�+� �

���������C�%
 ��
+����� �������������	�- ��>����� :
8 
�
 
(����� ��,
����
���� 3��- ��
+���� �� �����8 �4��	��� �" ��C����
����� ��>���� ������4 ����< −����& �
���
�� �����
��	
� ���������;

Φ = −κM/r , σ = 2
√
2κMr ,

(

r =
√

x2
i

)

, ����� 
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�
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�
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�
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�� �������	� 
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� AB �
+�� ���
��"
������ �� �
��	
 ��� �
��
���� 
(C������������	�- ��>���� �"
����
�
��	�-8 �
 � �
"�
���� ��
%�� �
��
��� �
�4� �" 
(C������������	�- ��>����� F�� �
���,
���
� ��� %�������
� ���
������ �����	� ���"
� 3���%��,�������� �:=L ���
(��"����� ��
�,
�
�
��
� =�
 �
"�
���� ���
�
� AB %������
���� �� �
��	
 ��	����4� ��>����8 �
 � ��>���� �

������#��4� ���
� �������� ?�����������
8 �����
���� �����	�

ds2 = eνc2dt2 − eλdr2 − r2dσ2 , ���� 



����� ��������
���
����� � ��� ��

��� dσ2 = dθ2 + sin2 θdϕ2� ��	 
����
���� �������
		 	����

eν → eν̃ = (1 + 2Φ/c2)eν , eλ → eλ̃ = (1 + 2Φ/c2)−1eλ . �����

�������	� ��������� �
� ����	�	 ����� 	���� �	� ���℄!

χT 0
0 = −e−λ

(

1

r2
− λ′

r

)

+
1

r2
, ���"�

χT 1
1 = −e−λ

(

1

r2
+

ν′

r

)

+
1

r2
, �����

χT 2
2 = χT 3

3 = −e−λ

(

ν′′ +
ν′2

2
+

ν′ − λ′

r
− ν′λ′

2

)

, ���#�

��� ���	$ % &��	'������ &� r� (��
��	)�*� +��������	� �*&�
����+� 	 �
� ������	��������
����	�	 g̃µν 	 ������ T̃ µ

ν � ,�+���- + .)/��� �����- �*������

χT̃ a
a = (1 + 2Φ/c2)χT a

a −G/c2 , χT̃ k
k = (1 + 2Φ/c2)χT k

k − S/c2 , ���0�

��� a = 0, 1- k = 2, 3 �1�' +.��	�����	� &� a 	 k 2� 	

G =
2

r2
(

Φ + rΦ′e−λ
)

, S = e−λ

{

Φ′′ +

(

2

r
+

3ν′ − λ′

2

)

Φ′

}

. �����

�.+�3 	+$����� &��+����+��� &
�+���� 4���� T µ
ν = 0, λ = ν = 0 	 �
� ������ 4�5 ��&.+���

'��� �	
3�*� &�
.)���

χT a
a = −G

c2
≡ − 2

c2r2
(rΦ)′ , χT k

k = − S

c2
≡ − 1

c2r2
(r2Φ′)′ . ���6�

7����+���+�3 8�	$ +��������	� �*&�
����+� � +	
. T µ
ν ;µ = 0- ���.�� +
��.�� .������	� (r2T 0

0 )
′ =

2rT 2
2 - ������� �*&�
����+� ��9��+������� 5' ���6� �*������- )�� ����	��
	����� &�
� &���9����+�

��:�+���� + 4�5- 	���:	� +��.��.�.

T 0
0 = T 1

1 , T 2
2 = T 3

3 . �����

;
� ���..��- �+
	 T µ
ν = 0- 	���� G = S = 0- 	 +��������	� ���6� &�	����� � �����	�

<���
�	
3��� = +
.)�� &��+����+�� + ��+��
��	)�+��� &�+������� Λ 	���� χT µ
ν = Λδµν � 4�>

��� G = S = −Λc2- )�� ���+�� + ���6� &�	���	� � �����	� <���
�	
3��>�� 7	������ = +
.)��
8
��������..�� T 0

0 = T 1
1 = −T 2

2 = −T 3
3 - &�	 8��� G = −S- 	 	' ���6� �*������ �����	� ���++����>

@���+������ ,����	�- )��- � +	
. 
	�����+�	 ���6� &� Φ- ��&.+�	�� +.&��&�'	
	� 8�	$ �����	�-
������� +�$������ +��.��.�. T µ

ν � 4��- �����	� ���++����>@���+�����>�� 7	����� ��9�� &�
.>
)	�3 	' .������	� G + S = −2Λc2- )�� +������+��.�� .+
��	� χT µ

µ = 4Λ� 7 ��.��� +�����*-

+ ���1����	�� ����� �� +����+��� +��.��.�� 4�5 &*
	 �T 0
0 = ε, T i

k = 0�- 	���
3��� 9	���+�	
�T 0

0 = ε, T i
k = −pδik� 	 +��
������ &�
� (T 0

0 = T 2
2 = T 3

3 �= T 1
1 )�

4��	� �1��'��- �+
	 �
� ������� 4�5 �*&�
����+� .+
��	� �����- ��- � +������+��		 + �������
AB- ��� ����	��
	����� &�
� ��$��	�+� &� ����.
�� eν = e−λ = 1 + 2Φ- &�	)/� &����
	�

.���
�������� .������	� �.�++���

∆rΦ = 4πκρtot , ����C�

��� ∆r = r−2∂rr
2∂r D ���	�
3��� )�+�3 �&������� B�&
�+�- ρtot = εtot/c

2 D 8�����	���� &
��>
��+�3 ��:�+���- +�'�������� �+�� +����.&��+�3� ������	��
	����� �����		 �&
����+�3 4�
��>
�� ���℄�� ��
��� &
����+�3 8����		 �&����
���+� +��������	��

εtot = ρtotc
2 = −2T 2

2 = T 0
0 − T 1

1 − T 2
2 − T 3

3 = ε+ 3P . ������

= ��/ ���+	� ��
�� 8�����	���� ���
��	� �����9��	�� P = −(T 1
1 + T 2

2 + T 3
3 )/3- ��� ��'.
3���

.+������	� &� �+�� ��&���
��	�� &��+����+������� )�+�	 4�5�
,1�1:��	� ������ 
����
���� �������
	� ����#� ��+�	����+� &�	 .)/�� ����- )�� 8�	 �����>

��
		 &�	���
�9�� � .�	���.
���*� 
���
3�*� &���1��'����	��- �����*� +�$������ 8
�����
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������	 
���
������� �� ����
��� θµ� ������� ����� ��
�� ����
����� ����� � �! 

�����"�
#��� " "��� ds2 = gµνθ

µθν → ds̃2 = gµν θ̃
µθ̃ν 	 ��� θ̃µ = Sµ

ν θ
ν 	 det||Sµν || = 1� $�%�� ����
�����

����� ��&�"���� � ����
��	 %�% "�&���� � �
���� ����
���� ��" � ���
�%� '�� 
��#�&����� 
��
�#���"���#!� � 

��������� �#������
� � �������#�
� � ����
������ �������
��	 ��

���
	
�������"� ���
�% )�
��
� *��℄

ds2 = ∆λ(θ
0)2 −∆−1

λ (θ1)2 −∆−1
µ (θ2)2 −∆µ(θ

3)2, ,-��-.

θ0 = G−1/2(Pµdψ −Qµdχ) , θ1 = G1/2dλ, ,-��/.

θ2 = G1/2dµ , θ3 = G−1/2(Pλdψ −Qλdχ) , ,-��0.

��� G = PλQµ − PµQλ	 � {Pµ, Qµ, ∆µ, Pλ, Qλ, ∆λ} − ���%��� %��
����� µ, λ ����"����"�����
1��
�%� "��� ,-��-. ����� �
�%��"��! %�% %#��� ���
�%	 
�#�2��� � 
���� �"�� �#������
� �

�������#�
� � ����
�����3 {θ0 → ∆
1/2
λ θ0 , θ1 → ∆

−1/2
λ θ1} � {θ2 → ∆

−1/2
µ θ2 , θ3 → ∆

1/2
µ θ3}�

4�� ����
����� ��"����� � ,-�5.	 
������ � �� 
����!6 ����� 
�#�2��!	 ��

���
	 ���
�%�
)�

��7!6������� 8����
� *�9℄�

�� ������	 �����
��	����������	��� ������	 � ����� �����������	���
�	

: %�2���"� 

���
� 

�"���� 
���
����� ���
�%� �������
��7�
���
������ 8����
� �������
��
�"��� � ������� ;<� =������� ���
�%� ds2 = c2dτ2 − dr2 − r2dσ2 " 
�&�#!���� ��#�#��"��

����#!��� ����
����� dr → dr − vdτ 

������� "��

ds2 = c2dτ2 − (dr − vdτ)2 − r2dσ2, ,/��.

��� v = v(r) > �%�
���! 
����#!�� 
���6��� 

��� � 2����� 
�
���#�2��%�� 8'� 8��#����
������ ;< v2(r) = V 2

n (r) = −2Φ(r)	 ��� Φ(r) ���"#��"�
��� �
�"����6 ,-���.� ����! �
�"������
����� 
�#� 
�
�������� ��2�2��� 2������� � ������ m	 �#�%�
�2��%�� 
�#�� &�
��� q � #�
����
��"�
������� "�%������ �
���� � 
#������!6 ���
��� ε = c4Λ/8πκ = −P 	 ��� P > ��"#����	 Λ −
%����#���2��%�� 
���������� $���� 
�#��� ����%��"��� 
#������! ����
�� 
�"��

ρtot = mδ(r) + ρe(r) + ρvac(r) , ,/�-.

��� δ(r) > ��#!������%��� ?�
�%�	 ρe(r) � ρvac(r) > �%"�"�#���� � 
#������� @���� A �#�%�
��
�����2��%��� 
�#� � "�%����� : ����"����"�� � ,-���.	 �������

ρec
2 = εe + 3Pe = 2εe , ρvacc

2 = ε+ 3P = −2ε . ,/�/.

;���! εe = 3Pe = T 0
0 = E2/8π = q2/8πr4 > 
#������! ���
��� �#�%�
�2��%��� 
�#�	 Pe > ����%�

��"��� ��"#����	 %���
�� �"#����� 
�&�#!����� ��
������� 
� "��� ��

�"#����� ��%�"�##�"�%���
���&�
� ��������� σi

k = −T i
k� : 
�&�#!����	 
�#��� ����%��"��� 
#������! ����
�� 

�������

"��

ρtot = mδ(r) + 2εe/c
2 − 2ε/c2 = mδ(r) + q2/4πc2r4 − c2Λ/4πκ . ,/�0.

'��6�� "����	 2�� �
�"�����6 
�
������ ��"������ 
#������! ���
��� �#�%�
�2��%��� 
�#� *B℄	
����� %�% @"�%���A "����� " ����6 ����%��"��6 
#������! ��%�� ��"���� �	 �� ��
�����#!� �
"%#���

��C���� �
�"����� ,-���. �#� ����%��"��� 
#������� ,/�0. ����

2Φ/c2 = −rg/r + r2e/r
2 − r2/r2vac , ,/��.

���

rg = 2κM/c2 , r2e = κq2/c4 , r2vac = 3/Λ. ,/�9.

=& �
�"����� ,���.	 ,��-. � ,/��. "����	 2�� ������"��� ��2%� ������"%� p " %���
�� Φ = 0 , Vn = 0
��%	 2�� En = 0� ������� " 
�#���!�� ��#�"�� ,���9.	 ��������� � �#� ��
�#!&�"���� ������ ;<�

'������	 2�� ���#���� ,-�B.	 "�&��%�6��� "�#����"�� ����
����� 
#��%�� ���
�%�	 $4=
����� "��

χT 0
0 = χT 1

1 = Λ+ r2e/r
4 , χT 2

2 = χT 3
3 = Λ− r2e/r

4 ,/�D.
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	 v = (−2Φ)1/2 � ������ � ������ ������������
�������� 
 �����
� ��������	����������	���  �����	 � 
������	�	! ���"���

ds2 = c2dτ2 −
(

dr −
√

2κM/c2r − κq2/c4r2 + Λr2/3 cdτ
)2

− r2dσ2 . ���#�

����$�	���	���

cτ = ct−
∫

(−2Φ)1/2(1 + 2Φ/c2)−1/2dr ���%�

�������� ��"������� ��&���� 
 ������	"� �'��� � ��������
��� ���
(�)�� eν = e−λ = 1+2Φ/c2�
��� ����	�	�� �� ��	��	����� ������ �����
� ��������	����������	���  �����	� *�������� ���
�����+� ��� ��"�����	) �����
	 ����,�	�� ��	(���	���� ������	����� � �"��
��� ���!����,��
������)��� ��� -���� �	 $�"+&�! �	����)��)! ��"� �
������� v = (−2Φ)1/2 ����,�	�� ����	"+��.
-
������(�	"+�� �	�&��)./�.�)  0 ����")(�)�� 1�	������ v = c� 
���� ���������! 2�������
���� ������")�� � ���&��� 2������� �����
� ���#��

�� �������	
��
�
��
���
 ����
�
��
 �
�
��� �


�
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������
�����2� 	�	"������
�2� �,���	 �����
� �5���	�� 	��
�	���2� ��
�������
��� ��,�"�� � �	6� ��)�	) ������
	 -��2� ��&���) ��	������ 7��&����	 ��)�	�	 � 2���
����
��� �,���"���)��8� 7�� (��	�� �� �����2� ���	 ��������2� 
���	 ����������
�� ����
� 9�:℄
���<��� �������� =	���	��
	� � ����� ����2�	��� 9�#℄ ����� � ��)�� � ���$"���� �,���	 �����
�
5���	� >	"�� �� �����6�	��� ��� � �2� �	$��� 3�,��� �����
� 5���	 ���/����")���) ����"+��
������ �	 ������ �	����,! �	���	�����
�! � �������
�! ������"�6����8� ?�� �� ������ ���
�����6�����,! �,�	6���� � �����$ �! ��"������ ��
	�,�	��� ��� �� ��	���) ��$�6	�+ 2�������

�! �,���"����� � �,��� �����
� ���	���) ����	"+�,�� @������
�� 6� �����6	��� �	�������
�����
� �$�	��6��	���) "�&+ ��� ����"����"+��� 	�	"����

����"�6���,� ����+ 3����
��2����������
��8 �,��� �����
� 5���	 ������� �� ���! -�	����
����,� A -�� ���������� �	 ������ ���$���� ���6�/�!�) �	���(  0 � ��������(�	"+�,� ��	/��
����� 
����	) )�")���) 
����	�����
�� ����"+. 
����2��	(�� �� ������� 4����� A �
".�����
2�	���	(�����2� ��	����������) ������� BC� 4 -��� ����	���"� �, ��"	2	�� c = 1�

*�
��	)  0 ��"6�	 $,�+ 	�����������
� ����	/	./���)� 7�� ��
".�	�� �� �	���������)
��	/���� � �����)���� �2"���� �
�����+.� D�"�� ��2��  0 ��"6�	 $,�+ ��	"����	�	 ���6������
���$���,! ���$�,! �	���(� ��-���� �	�������� � �+.������
�� ������	����� ��	(���	��,� ���
��
 ���$���,! �	���(� 
����,� ���6���) � ��������� �
�����+. �� $��
���������� ���"���� ���
���2	) �$"	��� "�
	"��	(�� D� ?�	�
����) 
	6��� �	���(, ��"����+. ������")���) �	��	�").�
/�� ��
����� �n (�n2 = 1) � 3���(�"+�,� ��
�����8 �r0� ���"����� ����2��	"�� �n� 	 �2� ��"����	
�	�	�� �����	"+��� �	����)���� �	 
������ �	���(	 ���"��	�� ���� (����	 �r = 0� ����+ -�� �	��
���)��� �") �	���( �"�) �����2	���) � ������ t = T � 2�� T �	�	��������� �"��� ?�2�	 ��	�
�����
�	���( ��6�� ������	���+ � ���� ���!�	�	��������
�2� ��������	 ��)�,!

�r = �r(t, T, θ, α) = (T − t)�n+ �r0, �<���

2��

�n = �n(α , θ) = �e(α) sin θ + �k cos θ , �e(α) =�i cosα+�j sinα. �<�'�

B���+ {�i, �j, �k} E ���, ��
	������  5� {θ, α} E �	�	����,� �r0 = �r0(θ, α)� F�"� �r0 = 0� �� �	���(,
���"���� ��
�����.��) � (����� �r = 0 � ������, t = T � �$"	��+ "�
	"��	(�� D �,��6�	���) �
���
�� 4 -��� �"��	� 
	6�,� ����
 ����
	 �	���( )�")���) 2���(��������
��� 	 �	�	����, θ �
α E �2"��,� 
������	�, ��������
��  5�

F�"� �r0 �= 0� �� ��
������
	 ����
	 �	��&	���)� �	
6� 
	
 � ��������
	) ��������) ������,�
����+ �	���(, ����
	 �����2	.� �����	"+��2� �	����)��) �� (����	 �r = 0 � �"��
���� z = 0�
?�2�	 �r0 "�6�� � �"��
���� z = 0 � ����2��	"�� ���� �k�  "����	��"+��� �r0 ������(���	"�� [�k, �n]

�	
� ��� �r0 = a(θ, α)[�k, �n]� 2�� a(θ, α) − ��
����	) ���
(�)� 4 �"��	� 	
��	"+���������������

������, ��6�� ��"�6��+ �r0 = a[�k, �n]� 2�� a E ��
����	) �����)��	)� ?	
�� �$�	���� 3�	���
��
�����	��,�8 	
��	"+�������������,� ����
 �	���( ����,�	���) ���������� ��)�,!

�r = (T − t)�n(α , θ) + a[�k,�e(α)] sin θ, �<���



�� ���� �����	


��� ����	�
�� θ, α ��
��� ��
�����
�����
� ��� ��
���� ��������
� ����������� ��� �����
��
��� ���
�� ��� ���
 	�	� ���
�� �r = 0 �� ����
����� r0 = |�r ||t=T

= a sin θ � �!
��
�" 
���
����

��� � ���� ����� D : {z = 0, 0 ≤ x2 + y2 ≤ a2}�
����	�
��	 ����	�
������� � ����	�������  ����
����
��� ���
�	�� $
� %
��� �����	 �!��

��������

r = T − t , R2 = r2 + a2 , &'�'(

� ����)�	 ��������� 
����
���� ���
�� ��
��� � ��������
��	 ����

x = (r cosα− a sinα) sin θ , y = (r sinα+ a cosα) sin θ , z = r cos θ .

* ��	�
������ ���	� ��� ����)�
�� 
��+

x+ iy = (r + ia)eiα sin θ, z = r cos θ. &'��(

,��
"��� ����	�
�� θ � α- ��
����	 ��������� ����� ���
�

x2 + y2

R2
+

z2

r2
= 1 &'�.(

���
������� r &�
� t(� ����	 �!����	- ����
� �������
������� �
��� ���
�� �!����"
 ��	���
��
��������� ��
"���
� %

�������� ���/����� 0�� t = T �	��	 r = 0 � %

������� ����1���
"
�� � ���� D : {z = 0, 0 ≤ x2 + y2 ≤ a2}�

,��
"��� ����	�
�� r � α- ��
����	 ����� ���
� ���
������� θ+

x2 + y2

sin2 θ
− z2

cos2 θ
= a2 &'�2(

��
���� �!����"
 ��	���
�� ��������� ������
��
�� �����!�
����� ���/����- � 
����
����
&'��( ��
�"
�� � ���	�
������	� �!����"/�	�� 0���� ���
� r = 
onst � θ = 
onst ���!��1���
�� ���� 4�

0������	 � ��������
�	 {r, θ, ϕ} �� ���	�
�	+

x = R sin θ cosϕ, y = R sin θ sinϕ, z = r cos θ. &'�5(

* %
�� �� ��������� &'�.( � &'�2( ����"
 ��������
��� ����� ���
� r = 
6789 � θ = 
6789� :����
ϕ ; ��
���� ��������
�- �������� � ����	����� α ���
��)����	

ϕ = α+ arctan(a/r) , &'�<(

��
���� �	��
� � &'�'( ������
��
 
����
���� ���1���� ���
�� � ��������
� &'�5(� 0�
� ������
��
�V = d�r/dt = −�n(α, θ) %
� ���
�� � ��������
� {r, θ, ϕ} �	��
 ��	�����
�

V 1 = ṙ = −1, V 2 = θ̇ = 0, V 3 = ϕ̇ ≡ ω = a/R2 , &'�4=(

��� 
���� > ����������� �� t� ?� ����	- �
� ��	���
�� %

�������� &'�.( �!�����
 ����� ���
�
���
������ ��
���� ������
� ω(�r) = 
6789- ����@	 0 ≤ |ω| ≤ 1/a�

* ��������
� &'�5( ���
����� 	�
���� (3)ds2 = dx2 + dy2 + dz2 �����	��
 ���

(3)ds2 = R−2ρ2dr2 + ρ2dθ2 +R2 sin2 θdϕ2, &'�44(

��� ρ2 = r2 + a2 cos2 θ� A
�"�� �
� 
������� ������
� V ���/���� %

�������� ��
����	

V =
√
g33 V

3 = ω(r)R sin θ = (a/R) sin θ. &'�4�(

B�
� m ; 	���� ���
��- 
� �
� � �	��
��� �P � 	�	��
� �	��
��� �L �� ���	

�P = −m�n(α, θ) , �L = [�r, �P ] = ma(�k sin θ − �e(α) cos θ) sin θ. &'�4C(

A
	�
�	- �
� |�P | = m,L = |�L| = ma sin θ � Lz = ma sin2 θ = mωR2 sin θ- ��%
�	� 0 ≤ |Lz| ≤ ma-

0 ≤ |�L| ≤ ma� ?���	�
���� 	�	��
 �	��
��� L = 0 �	�"
 ���
���- ���1�/���� ���
� ��� z�
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����� � ��� ��

���� �� ��������	�
 �����
����
 �� � ���������������� ���������� 	�
���
 �����������
���������� �������� ���
������ ���������
 �� ��
���������� ���������� ������
��

 ������������ �������
 θ = 
onst"

�������	
��
 ������ ����	
�� L = ma ����������� � ������� ������� �������� � ���������	
�
��
 �	������� θ = π/2 (z = 0)� ������ �� ���������� ��� � �������	
��� �����	
��� ����������
r0 = a �� ��� z!
" ����	� ���������� ��������	����
 ��	� � ��	�� ��������
 #$!%&' � �	������
 ���� µ =

µ(r, θ, t) ����� �	��� (�
 ����� ���������� �����)

∂µ

∂t
− 1

ρ2
∂

∂r

(

µρ2
)

= 0. #$!%$'

��+���� ��������� ������������� µ = µ(r, θ, t)� ������� � �����	� a = 0 ��������� � �����������
������������ ��+���� µ = µ(r, t)� ����� ����
 � ����

µ =
1

4πρ2
∂

∂r
M(r + t), #$!%�'

-��M(r+ t) . ����� ��	�� ������� ��������� ������ �		������� � r = 
0123− t � ������ �������

t! "����� ������ �	������� ��4���	
��-� ������� ����	
�� ��	� �l = µ [�r, �v]! 5�-�� ��4�������


������ ����	
�� �L �����-������ �����

�L =

∞
∫

0

dr

2π
∫

0

dϕ

π
∫

0

dθρ2 sin θ�l =
2

3
aM�k , #$!%6'

-�� M = lim
r→∞

M(r + t) . ��	��� ����� �����-������!

5���� �4������ ����������� �����-������ ������� �� ����������-� ����
���� 7�����	
��8
���� (�� � ��������
 �������
 �		�������	
��� ��	���� �	���� �������� � ��� ������
�
���(� ��� ��������	
�� ��� z � �-	���
 �������
 ω = a/R2! 9�4�������
 ������ ����	
�� �L
�����-������ : ��� ����	
��� ���������� �� ���� ��������� �!�! ��		�������
 ������! 9;� ����
������ � ��������� ���������� ������� ��	����� ����	
 ���� (�
 9; � �����������	
���
���(�����!
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������	
� �
�
�� ����	���	����
 ���	
��
����	
 � 	������
 �����������
 �����������
�
��� ����
���� �
�����	
� � ����	�� ���	
 ������
! ���� 	���
�
 ���
 �������
� ����	� ����"
���	�
���� #$ �
 ����%��� �	


��		 ����	�����		! ��
� � �� � ����	���� 
�� ��� ������
�!
��� ��
��
��' ����	 ����������	� ���
��	�� Φ! ����������� � � ������� 
 ��	(
�	

� )�' 
��
����(�
�	' ����
���	
 �
�
�'�	�	�����
 �����
�	
 �+ ��' ����	� 
��� m � ����	���	����

���
 Φ! ���	�����
 � �����	����� {r, θ, ϕ}� # ��
�,�� 

��	�	 -��../ �����	
0

∂S

∂t
+

1

2m

{

R2

ρ2

(

∂S

∂r

)2

+
1

ρ2

(

∂S

∂θ

)2

+
1

R2 sin2 θ

(

∂S

∂ϕ

)2
}

+mΦ = 0. -��.1/

2��
��	�� Φ ����	�'
��' �����	'
0 3/ �����
����'
� �����
�	� -.�45/ ��' 

��	�	 -��../! 6/
��	 a = 0 �������
� � ����������	
 ���
��	���
 -.�47/ ����	� 
��� M ! �/ �����
�	
 -��.1/
� 8�	
 Φ �������
� ����	���� 
� ���
����		! 	�	! ����	
	 �����
	! ����
�
�	
 �
�


�� ��
��	
 �����	'
 �����
����'
� ���
��	��

Φ = −κMr/ρ2 , -��.7/

����� � ������
��' ��
��
��� 
 ��
���������	

 z → z − ıa ���
��	��� -.�47/ 9.:℄� 2�	 8��

√

x2 + y2 + z2 → r− ıa cos θ 	 �
����	�
����' ����� �
�	�	� κM/(r− ıa cos θ) ��<� -��.7/� =,


�
%
�	
 �����
�	' -��.1/ � �	�
 S = −Ent+mσ(r)� )�' ����	� � En = 0 �����	
 ∂σ/∂r =

√
rgr/R

	

V 2
nr = (∂σ/∂r)2grr = rgr/ρ

2 , -��.>/

��
 rg = 2κM , grr = (grr)−1 = ρ2/R2�
2
�
��

 �
�
�� � �����������
 ?	��������� � #$! ��'������ � �


�����
 8��	���	���

-��@/! ����� 
 ���,����' � ������� ��������� ω = a/R2� )�' 8���� � 	��
����
 ?	���������
ds2 = dt2 −(3) ds2 -��
 (3)ds2 A 

��	�� -��..//! � ��
�,�� ���������� ��
���������	' B��
��� �
����

���
 V = (a/R) sin θ! �
�
��

 �� �����	������� ���	�� {dt, dr, dθ, dϕ} � �
������
��
�
���	�� ."���
! �����,
�� #$ � �	��
�
��	���� 
 ���,
�	

0

θ0 =
dt− V dl√
1− V 2

=
R

ρ
(dt− a sin2 θdϕ) , θ1 =

ρ

R
dr ,

θ2 = ρdθ , θ3 =
dl − V dt√
1− V 2

=
sin θ

ρ
(R2dϕ− adt) , -��45/

��
 dl = R sin θdϕ A 8�


�� �	�	�
����� ������'�	'! �����
������,	� ���� dϕ� � ����
 ���	�



��	�� ?	��������� 	


� ���
� -.�.�/! ��
 ���	� ���
������ {θa} (a = 0, 1, 2, 3) ���
�
�
� �
-��45/� )�' ��������� 

��	�	� ������

0

(∂S0
)2 = (�e0)

2 − (�e1)
2 − (�e2)

2 − (�e3)
2 , -��4./

��
 {�ea} A �
����� � ���	�! ���	
� � ���	�� ."���
 -��45/ (θa(�eb) = δab )! 	


� �	�

�e0 =
1

ρ

(

R∂t +
a

R
∂ϕ

)

, �e1 =
R

ρ
∂r ,

�e2 =
1

ρ
∂θ , �e3 =

1

ρ

(

1

sin θ
∂ϕ + a sin θ ∂t

)

. -��44/

B
��� �	�
��! ��� � �����
������,

 �
�'�	�	�����
 �����
�		 �+

1

ρ2

{

(

R
∂S

∂t
+

a

R

∂S

∂ϕ

)2

−
(

∂S

∂r

)2

−
(

∂S

∂θ

)2

−

−
(

1

sin θ

∂S

∂ϕ
+ a sin θ

∂S

∂t

)2
}

= m2 -��4:/

�
�


�� 
 ����
�'���'�
2
�
��

 � ����
���
 ���
��
��� �
���
��		 -.�.�/ 

��	�	 -.�.�/� #������� v � ���
����

-.�.�/ '��'
��' �
��������
 �
�'�	�	������� ���(
�	' ���� �������
�0 �������	 ����	��������



����� ��������
���
����� � ��� ��

�������� 	
��
�� �������� �������� ������ � ������������ �������������� �� � 	
��!�� �  �"
��#��# �������� �������� V 	
��$�� ��%� �� ����# ��������� &'� (�)���%� ���� �*%� ����% ,
�� ������������ � ������ ��������# -�.℄� � � ��*% ����%���# ����� ���# �������� �������

v = Vnr

√

1− V 2 =
√
rgr/R . 	
�$
�

(���������� �"���� 	
�$0� � �������� 	
�$
� � ������% 	���1� ��2�

ds2 =
∆

ρ2
(dt− a sin2 θdϕ)2 − ρ2

∆
dr2 − ρ2dθ2 − sin2 θ

ρ2
(R2dϕ− adt)2 , 	
�$��

��� ∆ = R2 − rgr� 3�#������ �������� ��� � �������� � ������������% ��*��% {dt, dr, dθ, dϕ}�
��������� ���������,# ��� ������� 4���� � ����������� 5�#���"6��������� -�.℄�

7���� ����*��� ������%�������� ������� 4���� ���������� � ���������� � ������������ 8��"
�������� &' � ����������� ��,� ���������� ������� �� ����� �������������# ���� �� ����"
��# ������%����� �� ������� � *����9����� �� ������� ��������������� �*������#������ ���"
������� ������� :6�

; ���*� � ������������# *���� ������%����� �� ������� %������ ��������� ��� � �������
-�
<$�℄ ������ �� � ��%��� ��*���#� ����������� ��� �������"������,� ���� � �� ������ �� ������
������ 4���� � 4����"3�������

��������	�

; �����# ������ ����������, ������, ����������� � ������������ )������������� ���"
������������ ������ ���������� ����,� ���%%��,� ��9���# %�������# =#�9��#�� < ������
:������� ���"6���� 	:6�� (��� ���� ��� ����������# � ��������# ������ :6 � �����������"
���� ��� ��� �������

:���� ������, �����, >�� � ����#? � > ��������# ���������#? ������������ 8���������� �
��#��� *���� �������*������ 7=@ ��� > ��������# ����������?� (���*���� ��� ������� A����"
9� ���� ��#������"3���������� ��"&������� � ����� �� �����*����� ���%� �,�� �� %����,� ��"
����� :6� & ��%��# ������,� ��9���� 7� ����� C�9���� ��%������� ��9���� A����9� ��� �
������ ��9����� �� ��������,� � ����������� 	$�
�� �� ���%� �,�� �� %���, )��� �������� &
������� ����������������� ������ :6 ��������, ������� ��#������"3���������"�� &�������

3� ������ ��������� �������,� �����,� ������ &7' ��������� ��������� ���� &' � ���"
�������� ��,� ���������� ������� ����� �,�� ���� �� ������%����� �� ������� & �������
��������� ������ :6 �� ����������� &' ���� ���� >��*���"�������������#? �,��� �������
4����� ; ������ ���� ������������ �������������� ���� ������� )  ������� ���# ����, ������"
�����# ����������� ��������� &' � ����������� ��,� ���������� ���*� ��������� >�� ����"
�����? )  �������� a � �������� �����,� ������ &' 	� � �� ����� ��,� ������������� 8����
��2� ��*�������� %������� ��,� , &4 � &'� ���� �*%��,� ��� �� %����� ������� 4���� 	
�$��
� �2 � ����� ��� ���� 	���
�� 	
����� '� ��*�� ��� �,������ ��,�  ��� ����� ����������� �����
��*��� � ������� 	
�$��� ��� � �������  ��� ����� �������*������ 6������ 	
�$0� � ��������#��
&'� � ��������� ��������% ����# ������� 4���� � ����� 	
�$���
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��������� WKcKWKI
K cWHOK� JV
HJ NVWKITv TWHIScVWOHT;VI� \VOOKWcKJX<NKIv OKTUVX� qKWW OKTW;
�

G[5\� $#�"$�<Q� $#�"$�`a

wK 
VIS;XKW TUK HYYJ;
Ha;J;Tg HIX xRST;y
HT;VI Vc TUK \VOOKWcKJX<NKIv OKTUVX Vc VaTH;I;Ib KiH
T SVJRT;VIS Vc
d;ISTK;I KQRHT;VIS HS sKJJ HS SVOK Vc ;TS HYYJ;
HT;VIS� hUK OKTUVX 
VIS;STS ;I ;ITWVXR
;Ib H YHWHaVJ;
 WKcKWKI
K
cWHOK SYK
;yKX ag TUK SKT Vc cWKKJg cHJJ;Ib YHWT;
JKS ;I TUK b;LKI rKsTVI;HI SYH
K� zRWTUKW VI� RS;Ib TUK KQR;LHJKI
K
YW;I
;YJK� sK 
VISTWR
T TUK 
VWWKSYVIX;Ib HIHJVb Vc SR
U WKcKWKI
K cWHOK ;I H STHT;VIHWg SYH
K<T;OK Vc {KIKWHJ
ZKJHT;L;Tg� hUK YWV
KXRWK cVW yIX;Ib H OKTW;
 ;S WKXR
KX TV TUK 
VISTWR
T;VI Vc TUK 
VWWKSYVIX;Ib 7JV
HJ {HJ;JKV
XKcVWOHT;VI: VW 7NVWKITv XKcVWOHT;VI: Vc TUK f;IoVsSo; OKTW;
�

wK SRbbKST H IROaKW Vc OVX;y
HT;VIS HIX bKIKWHJ;vHT;VIS Vc TUK \VOOKWcKJX<NKIv OKTUVX HIX 
VIS;XKW ;TS
HYYJ;
HT;VIS� {KIKWHJ;v;Ib TU;S OKTUVX TV SYUKW;
HJJg SgOOKTW;
 
VIybRWHT;VIS Vc {KIKWHJ ZKJHT;L;Tg s;TU OHTTKW�
sK yIX TUK JHs Vc TWHIScVWOHT;VI Vc KIKWbg<OVOKITRO TKISVW Vs;Ib TV 7NVWKITv XKcVWOHT;VI:� |T ;S SUVsI TUHT
TUK OKTW;
S Vc \
UsHWvS
U;JX� ZK;SSIKW<rVWXSTW}VO� XK \;TTKW� HIX TUK;W 
VOYVS;T;VIS 
HI aK VaTH;IKX ag TUK
\VOOKWcKJX<NKIv OKTUVX� ~I TUK VTUKW UHIX� hVJOHI� z;SUKW SVJRT;VIS� HIX ;ITKWIHJ \
UsHWvS
U;JX SVJRT;VI 
HI
IVT aK VaTH;IKX ag TU;S OKTUVX� |I TU;S sHg TUK OKTW;
 Vc ZK;SSIKW<rVWXSTW}VO<XK \;TTKW ;S aR;JT s;TU RS;Ib H
OVX;yKX \VOOKWcKJX<NKIv OKTUVX�

hUKI VI TUK aHS;S Vc SKT Vc cWKK TKST YHWT;
JKS Vc TUK \YK
;HJ ZKJHT;L;Tg TUK IVI<;IKWT;HJ WKcKWKI
K cWHOK s;TU
X;tKWKIT;HJ WVTHT;VI ;S aR;JT� hU;S WKcKWKI
K cWHOK 
HI aK ;ITKWYWKTKX HS H OVXKJ Vc 
VIybRWHT;VI s;TU SY;I� hUK
7YUgS;
HJ<bKVOKTW;
: XKW;LHT;VI Vc qKWW OKTW;
 ;S YWVYVSKX TUWVRbU bKIKWHJ;v;Ib TUK \VOOKWcKJX<NKIv OKTUVX
TV WVTHT;Ib WKcKWKI
K cWHOK � wK b;LK H IHTRWHJ o;IKOHT;
 ;ITKWYWKTHT;VI cVW TUK KJJ;YSV;XHJ SUHYK Vc TUK SRWcH
KS
Vc 
VISTHIT WVTHT;VI HIX cVW TUK WKcKWKI
K cWHOK s;TU TUK X;tKWKIT;HJ WVTHT;VI ;S VaTH;IKX� [JSV TUK 
VIIK
T;VI
Vc TUK 7�HTTKI;Ib: YHWHOKTKW Vc KJJ;YSV;XS s;TU H OVOKITRO Vc TKST YHWT;
JKS �VW ;OYH
T YHWHOKTKW�� hURS� TUK
\VOOKWcKJX<NKIv OKTUVX HJJVsS TV OHoK H S;OYJK HIX 
JKHW YWV
KXRWK Vc VaTH;I;Ib TUK qKWW OKTW;
�
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